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NV NRVT 297 A2 — If he carried from one MW to the other
“Inadvertently, he is 277 to bring a nRwr 1279”°. The X3 asks:
This is obvious.

292977 NI ST ORI AT NI ST ORIT JBWARWRT 1190 — since the Rin of the
Xn» 72 taught us that this domain is a v''/79, and the other domain is a 9"
AR TP TR RIXIAAT XuwD — it is obvious that whoever transfers an
object from one domain to the other domain, inadvertently

NRYIT 2917 — he 1s 2997 to bring a NRwVA 1.t

" See "1 Y naw, that 'o1m *"w disagree as to what is the exact question of the X3 when it asks !Xv*wd
According to >"w" the question is it should have just said in the Xn»72 that "2 92157 R°X177 aX1" without
mentioning that he is nXvA 271, since that is self understood. M»o1N however learns that the question Xvwd
asks why is it even necessary to say ""21 271 22 0137 R°¥177 aR", since the Xn>12 told us already X"
™31 7 1" 7 "R RO, we already know that if 21 0213771 X% since XX is one of the MR MAax.



